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1. Shares issued to debentureholders of Rs. 10,000 at par, and the short-term loan was
given back of Rs. 60,000 . What was the effect of these two transactions on fund
flows ?

(1) The flows will decrease by Rs. 70,000

(2) The flows will be affected by Rs. 50,000

(3) There will be no effect on working capital and funds

(4) Funds will increase by Rs. 70,000

FUTFIRS! B 379 3ifhd geu W A Y 10,000 o &, 3R 60,000 Fo & AY-3AR &
FOT @Y Y| GFT A1 BT BUS| & Fae TR FT g91d g3l ?

(1) warg 70,000 To A &H B

(2) warE 50,000 o | wHIfAT BRI

(3) @Te] Yol qer BUSl WR BIg YHId & BRI

(4) wUE 70,000 To I

2. If the capacity usage ratio of a production department is 90% and activity ratio is 99%,
the efficiency ratio of the department will be :

(1) 120% 2) 11% (3) 99% 4) 110%

UEH IAET fAMPT &1 emar-uanT gurd 90 ufawra @ den ufshar U 99% &, d 89
famT &1 SRiemar STuTa BT -

(1) 120% @) 11% (3) 99% 4) 110%

3. When the sales increased from Rs. 40,000 to Rs. 60,000, then profit increased by
Rs. 5,000. On the basis of it the P/V ratio is :

(1) 20% (2) 25% (3) 50% @) 15%

W@ fasT 40,000 $o A dEHX 60,000 o FA, AT @M 5,000 To W FGI| T IR W
S /T U §

(1) 20% (2) 25% (3) 50% 4) 15%

4. Under a concept of accounting a business should provide all relevant information to
external users for the purpose of sound economic decisions. That concept is :

(1) Full-Disclosure (2) True and fair annual report

(3) Economic interest of stakeholders (4) Standardized report

AGHT B TH YR B =< Uh AaAID Shls B drEl-Afaadl &1 el e Aol

o & SRy W W ST gEE e e dfed | I8 €RO Bl §

(1) U-THEIHROT B (2 W9 gd W aiffe Raré @

(3) sizrnRal & anfdie fRa @ (4) ywifda Raré a1
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5. Positive methodology of accounting theory is also called :

(1) Normative methodology (2) Predictive methodology
(3) Descriptive methodology (4) Prescription-approach
oraiF RigrT @ AHRIGE JoTeh ST BT S8l S @ -

(1) amesft yomell fasm @ (2) wfasr e vomed fags @t

(3) gofTees Fad vomell fasim (4) ﬁﬂﬂ'\’waﬁﬁm Ay

6. The process of reporting an item in the financial statements of an entity is:

(1) Allocation (2) Matching (3) Posting (4) Recognition
TP WY B SHE B A Aavel ¥ e & usHH P1 PEd © ¢
(1) smEes (2) e & (3) @ar (4) =T
7. Three combinations are given :
a. Expenses . Efforts
b. Revenue :  No accomplishment
c. Expenses :  Expired costs
Which one of the following is correct about these combinations ?
(1) 'a’,'b'and 'c' all are correct (2) .'a' and b’ are true and 'c’ is wrong
(3) 'a',and 'c' are correct, 'b'is wrong  (4) only 'c’is correct
= ganT e €
@) @b O |
(@) oM™ . frwres gl
(@) @ . eEfyd AT
frr # | S-G9 g9 A A S aR H weT ® ?
(1) ‘ar, @ don | o=l |@el 8 (2) ‘ar qem A W& & SR W e ®

(3) ‘& @Al W W& & 3R I e © (4) dadt 9 B FE ©
8. A principle objection to the straight line method of depreciation is that it ignores
variations in the rate of :
(1) inflation - (2) interests
(3) assets-use _ (4) assets demolition

W%mﬁ@iﬁlaﬂ?ﬁ|qvcgwﬂwamﬁfa€€ﬁ?ﬁ%ﬁﬁa€ﬁlﬁﬁﬂﬁﬁ%ﬂwﬁ
faeRor @Y IUeT Pl B -

(1) Foarmify &R & (2) =< R B
) AERRN & YA &R Dbl (4) Tt & TR Bl
MPHDURS-EE-2013/Commerce/(D)




9. Accounting standard-6 (Revised) deals with :
(1) Depreciation Charges
(2) Depreciation Accounting
(3) Depreciation Measurement and Concepts
(4) Depreciation Charges by Rails
SGTh JH9-6 (FeNfera) I @
(1) &9 PRI ¥ (2) ETE-IREET W
(3) B P AIUF U4 gROT J (4) YT ERT & WARI

10. Generally which inventory cost method approximates most closely the current cost
for each of the following ? '

Cost of goods sold Ending Inventory
a. LIFO ' FIFO
b. LIFO - LIFO
c. FIFO FIFO
d. FIFO LIFO
(1) only 'b'is correct (2) only 'a'is correct
(3) 'a’'and 'b' both are correct (4) all are correct '
ARG ATl & e 1 § | SIF-91 9T 8l & Jeaied & ford Sfad & 2
CERMCRS S RG] ifsrH efern
(ar) ferer | forpT
@) formr form!
(#) ot fohepT
(2) frey Ry
(1) ®act ‘¥ Fal & (2) Bad ‘A HE ¥
(3) ‘e 3R ‘T A AEl B (4) ) T g

11. "The function of management accounting is to provide data and not the ................
What will come at blank space ?
(1) decision (2) costs (3) analysis (4) liquidity
TGP II-IEHT BT DB 2 Nps STAE] BLATT T B oo "
R e w @ R ?
(1) Ao (2) @rTd (3) fagergor (4) TR
MPHDURS-EE-2013/Commerce/(D) PLT O




12. Budgets are the comprehensive plans of :

(1) estimation (2) action

(3) budgetary variances (4) organising
gofe fagd doEn B @

(1) Srgwml @ (2) BRIATEN Bl

(3) 9uic @1 qaclferdi &I (4) FITSHIIHOT DI

13. Which one of the following is correct ?
(1) Budgeted Sales — Standard Sales = Value Variance
(2) Budgeted Overheads — Actual Overheads = Volume Variance
(3) Budgeted Overheads + Budgeted Output = Budgeted Ratio
(4) Actual Cost = Standard Cost — Labour Cost Variance
1 # 5 o-ar AF 7 2 |
(1) aoicry faspa — w9 fasa = ama faEfa
(2) IoIcIy @d - aRdfad WY = JET [JEfd
(3) O T + FUIcrd G = quicrd AU
(4) IRAMAP ATTd = THT AIRTA — 319 arTa farfa

14. Here are three equations :
a. Change in Profit + Change in Sales = P/V Ratio
b. Variable Cost = Cost of the items
c. Fixed Cost + Cost per Unit = B.E.P.

Now which one of the following is frue about these equations ?

(1) Only 'c'is correct (2) Only 'b'is correct

(3) Only 'a'is correct (4) All the threeare correct

T8 W AT FHEI E

(@) o # aRaci + faspa  aiRad = e/ | SruTd

(@) uRaceiiar ArTd = 98 @ AT

() i AT + Ui 618 AR = dlogoYlo

3 dFl & IR | 9 A | $I-ar wel e Y

(1) dad 9 FE & . (2) Pad 9 & B

(3) dadl ‘o el © (4) A1 & W €
MPHDURS-EE-2013/Commerce/(D)




15.. Current Ratio=2:1, working capital = Rs. 50,000. What will be the value of current
liabilities ?

(1) Rs. 25,000 (2) Rs.1,00,000  (3) Rs. 50,000 (4) Rs. 13,333
TS, IMFUTT =2 : 1, I ofl = 50,000 Fo | are] gfieat & Wl e 2rf ?
(1) 25,000 To 2) 1,00,000 ®o (3) 50,000 Bo (4) 13,333 %0

16. The Lease rentals paid by the lessee are :
(1) legal aspects of the contract
(2) less important contents
(3) the tax-deductible expenses for the lessee

(4) non-tax-shield items under the lease-contract

TN gRT A T ug-faRni B €

(1) sgay & SIE TEgel ¥ IS

(2) ®H-AEd & G

(3) USHRI ERT Y- @

(4) a1 FR—aTa B A UG B I

17. Ratios calculated from the financial statements play triple rate in an enterprise—
historical, contemporal and :

'(1‘) astrological (2) financial display
(3) astronomical (4) logical

e Sed # farig-fdarell 1 e T Ut @1 RBoefw dner gk & - shes 9
R, AT S 3R

(1) =i () fMa-vesH
(3) @i (4) THAETI

18. Net Profit Margin is calculated with the help of :

(1) Earnings after tax + Sales (2) Earning before tax + Sales

(3) Earning after tax + Gross revenue  (4) Earning before tax + Net revenue

G- AT B T e F ¥ et dEtaar | @) o) @ 2
(1) HR-ggarq It + famy (2) HR-gd o + famy
(3) HR-UTAN oI + HBHA-HIfT (4) TR-gd oo + Fg-wiftT

MPHDURS-EE-2013/Commerce/(D) P T: 0
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19. Net Profit = Rs. 16,000 (as per P & L A/c); Provision for Bad Debts = Rs. 5,000;
Depreciation = Rs. 15,000; Proposed dividend entered in P & L A/c = Rs. 10,000;
Provision for taxes = Rs. 2,500; Preliminary expenses = Rs. 1,500; Profit on sale of
machine = Rs. 13,000. '

The Cash-flow from operating activity will be :

(1) Rs. 37,000 (2) Rs. 50,000 (3) Rs. 33,500 (4) Rs. 31,000

@ @M = 16,000 To (-8 WIATHR); §94 FT &I Waa = 5,000 ®o; g™ = 15,000
Bo; o-81f+ Wi # forar gorm uxarfad @mier = 10,000 Bo; HX & Wigem = 2,500 %o;
yRAE @d = 1,500 $o; 7 & faspa R & = 13,000 %o |

gRerer fopamsii | Adhel-ydrg s8I ¢
(1) 37,000 %o (2) 50,000 ??0. (3) 33,500 %o (4) 31,000 %o

20. An analysis consisting of a study of the behaviour of each of the items in the financial
statements is called :

(1) Stewards analysis (2) Event analysis

(3) Inductive analysis (4) Horizontal analysis

farir RIaRo & Ud STSeH & FAER B AT BT ALY B e [AReIYol BEAAT € :
(1) s frgeror (2) T fwereT

(3) WP faweryor (4) ergueer faweryor

21. RAID stands for :
(1) Reproduce Array of Inexpensive Drives
(2) Reproduce Array of Intelligent Disks
(3) Redundant Array of Inexpensive Disks
(4) Redundant Array of Inexpensive Drives
3o To 3o Slo HFY BT & :
(1) Rursg@ W &ife sAgadifig ggqd & o
() Ruiregy ® 3t gferre fowma & ford
(3) Re=e @ oift SToRmRE Reema @ frd
(@) Res= R it svaaifia gzqd & ol

MPHDURS-EE-2013/Commerce/(D)



22.

23.

24.

25.

26.

Light pen is frequently used in :
(1) A computer aided design (2) Word Processing
(3) Presentation (4) Spread sheet

lSe U SR YA § 1T ST ® |
(1) H*gex Jergdr urd feoms+ (2) g wepHor
(3) WRTdROT H (4) B e |

To interconnect two homogeneous WANS, we need :

(1) abridge (2) a gateway (3) arouter (4) ahub

<1 AT WANS &1 Sited @ fordl &4 oeed ged) & ¢

(1) T fasr @ (2) T T B (3) Uh WR B (4) T g B

Which one of the following techniques is the best suited for bank cheques ?
(1) OCR (2) OMR (3) BAR (4) MICR
I qBT & ol et # I B Tl wam B ¥ Swe B 8§ 2

(1) 3Mo¥fiosmRo (2) 3AToTHORNRO (3) dlovoaiRo (4) THoIMTgow 03RO

Internetis a:

MPHDURS-EE-2013/Commerce/(D)

(1) LAN (2) WAN

(3) MAN ‘ (4) Both LAN and MAN

Ve BT ©

(1) TSoYoT+o  (2) S=YoToTo

(3) THoToTo (4) TcloToUso AT THoToTxo G|
In which transmission mode the flow of information is bidirectional at the same
time ?

(1) In Half Duplex (2) Iﬁ Simplex

(3) In Full Duplex (4) In Liquid Window

TR & b oS H GIr & uar e € 99 § R-RemRe @y @ ?

(1) BTP-gered § | (2) Roerey #

3) W gwiaw # (@) fafds fawer 4§

BT 0.



27.

28.

29.

30.

31.

Which one of the following is the smallest memory size ?

(1) Terabyte (2) Gigabite (3) Kilobyte (4) Megabyte
et § & W BIE AN FTgS B0 B € 7

(1) cRmrEe (2) frmarge (3) fopemarse (4) FmETET
LCD stands for :

(1) Liquid Colour Display (2) Light Colour Display

(3) Lithium Crystal Display (4) Liquid Crystal Display

Telo o Eo H BT 8

(1) ffias wor e @ i (2) drge ber vt & ford

3) forlraw frea et & ford (4)%@38%%@%%
Computer network which spans over a large geographical area is :

(1) LAN (2) VAN -+ (3) WAN (4) MAN
wmﬁwﬁaﬁwa@%ﬁm&ﬁaﬁmmé,a@m%:

(1) TcloQoyo (2) dlogoyd (3) SwgoYoUdo  (4) YHoToUHo

How can you create a uniform appearance by adding background image to all slides ?
(1) by creating a template

(2) by editing the slide master

(3) by using the auto correct wizard

(4) by editing and creating all of the above
wﬁwm@ﬁrqwmaﬁﬁ%gmammwﬁ%ﬁwﬁamm%?

(1) el MUl & Rl

(2) IgS AREY B TG GRI

(3) @ife) TR fASTE &1 Jan e

(4) t{qg-‘cﬁw-ﬁa%maﬂqa'wwa%m

Which one of the following statement is correct?

(1) Behaviour is the function of people and environment

(2) Reinforcement approach to understand the leadership is a famous approach
(3) Role perception refers to occupancy and actual role behaviour

(4) Motivation is not necessary for job performance

MPHDURS-EE-2013/Commerce/(D)



=1 & SF-a1 dem e ?
(1) =9eR T Ue ararawer @l fhar 8

Q) T B A B R GBI SURTH T URIE SUTT
(3) Wffbr-arer SfERIRT AR A T waER B garar &
(4) PRI-ForEs &g IROT SavE T8 §

32. Something that refers to attractiveness or intensity of desire for some expected
behavioural consequence, is called :

(1) Intrinsic behaviour (2) Valence

(3) Motive (4) Expectancy
ﬁéiﬂmﬁ?ﬂgﬁﬁﬂﬁﬁ@ﬁ%ﬁ%%ﬁﬁ%%ﬁa@éﬂm5w|aﬁdlaﬂlé@rw¢ﬂ
R E, S PEd ©

(1) SFh{d IR (2) AT

(3) w=om (4) wearen

33. Which one of the following view was originally derived by analysing critical
incidents written by 200 engineers and accountants ?

(1) Two-need view (2) Hygiene and behaviour view
(3) Theory of role and behaviour (4) Maslow's need hierarchy view

(1) SI-MaTThaRl &1 fer (2) @ReY-fasg vd agR faeR

(3) YT Td =aER SUNTH (4) HXA @1 saRIHAS B Gger fuR
34. Affective, cognitive and conative are the three elements of :

(1) Perception (2) Behaviour (3) Leadership (4) Attitude

TS, HSTd qe g — 3 A= o & -

(1) & & (2) @R B (3) Iga @ (4) wgRy &

35. A belief of providing a general guidance system is called :

(1) Counselling (2) Career development belief
(3) Perception ~(4) Value

AT AR goell & faar @1 ®ar arar &

(1) A=o7 (2) maRa wrfa fa=r

(3) M (4) Sumfirar

MPHDURS-EE-2013/Commerce/(D) P.T.O.
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36.

37.

38.

39.

D
Which one of the following combinations of approaches is the forerunner of modern
approaches to studying leadership ?
(1) Incredibility, Punitive, and Cognitive
(2) Active greatman, Personality-trait and Leader behaviour
(3) Active, Pro-active, and Reactive
(4) Influence, Behaviour, and Contingency
?ﬁﬁﬁ?ﬂﬁtﬁﬂ-ﬁ&ﬁﬂmﬁm@ﬂﬁqﬂaﬁmaﬁaﬂwmaﬂw%?
(1) o, qifvsd Tl HRTID
(2) fepameiier wer afd, feTea-fager AT AT BT ATER
(3) forareiie, sruwfha qen gfoafsa
(4) TE, GER AT AT RADBAI

The 'Arc of Distortion’ indicates the potential inaccuracy of :

(1) Two-ways communication (2) One-way communication

(3) Formal communication (4) Informal-commﬁnication

Rrpfy 2 = W SRy R R -

(1) fe-art awwor o1 (2) TEe-HATT ARIGOT DI

(3) -SfeeRe FwEvT B (4) SRS TR B

The number system on which modern computers operate is :

I(1) Octal number system (2) Hexadecimal number system

(3) Binary number system (4) Decimal number system

Wﬁlﬁﬁﬁﬁﬂﬁa@ﬁzﬁwwﬁﬁﬁﬁ%aﬁﬁm%:

(1) oreEmry wwen e (2) Srevmm e RiveH

(3) feommd e Ried (4) TIHed e Ried

A'register that keeps track of next instruction to be executed is known as :

(1) an instruction register (2) a programme counter

(3) an accumulator (4) a data register

wvﬁﬁvﬁﬁmﬁﬁﬁwmﬁéﬂaﬂﬁaﬂém% G‘@{WW%
) Td Ay IR (2) TH UTUTH HIScX

(3) U HATAD (4) TP AHiHST AVRER

MPHDURS-EE-2013/Commerce/(D)
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40. RAM is broadly categorized in :

41.

42.

(1) SRAM, ERAM (2) ERAM, VRAM

(3) VRAM, DRAM (4) DRAM, SRAM

AR U T DI JaER Iogg fbar Sirar & -

(1) THoIRoYoTHo Gl FodMRoToTHo  (2) FodfRoYoTHo TT dlodMRoToTHo
(3) Wo3IRoToTHO TT TloRoToTHO (4) S103RoToTHo TAT TRHoIRoYoTHo

Union-taxes have been laid down in the list of :
(1) The seventh schedule of the Constitution
(2): The eighth schedule of the Constitution
(3) Fiscal Policy

(4) The guidelines of the Ministry of Finance
g o FuiRa & v § -

(1) <fdam= & ardl arRoy 3§

(2) wfder @) srad wRo §

(3) <ot Hifa |

(4) fafrd sife g @ AR
MSME stands for :

(1) Medium, Small and Middle Enterprises
(2) Micro Service Middlemen Entrepreneurs
(3) Managed Services of Ministry of Exports
(4) Micro, Small and Medium Enterprises
THoUHoTHoZo fA H & ey ar # & ?

(1) #ifegw, we Us fAsd geammsors

(2) ! Wi freer E2IRR

(3) e Wi ol ARRS sifw Tave
(4) #rEEp1, T Vs Afead gevmmgers

MPHDURS-EE-2013/Commerce/(D)
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43.

44.

45.

46.

D

An industrial unit with the debt-equity ratio of 1 : 1 and with the cash-loss will be
called :

(1) sick unit (2) weak unit

(3) cash-cow unit (4) care demanding unit

TF SlEfe sHg Rrae mw-ﬂﬂw&ﬁqﬁl:léﬁweﬁﬂaﬁﬂﬁﬁﬁﬂﬁﬁ
PEATIN

(1) 9¥R g&rE (2) HECIR TS

(3) APG-TS; FHIS (4) WA AT ATl $HTS

EPCG stands for :

(1) Environment Protection for Capital Goods
(2) Export Promotion of Capital Goods

(3) Export Promotion of Current Goods

(4) Environment Protection of Core Group
Sofodioshlo fret # & fFdd aR A € 7

(1) TAaRi=ic geaes BR dfied T$9

(2) TEAAIE U ot dfted i

(3) TEUIe UHIRE 3% e IS

(4) T WieaeE i R U

'The eight round of Multilateral Trade Negotiations' is popularly known as :
(1) Dunkel Round (2) Doha Round

(3) Brettonwoods Round (4) Uruguway Round
@mwwwmmwmm%:

(1) e awras | (2) <1 anias ¥

(3) gTASSd ardrdsh | (4) So7T qrarEs A

Which are the two major ideas running through the traditional approach of
management ?

(1) Diagnose and Analysis

(2) Functions and Principles

(3) Management levels and Understanding

(4) Management dynamics and Performance

oy 3 IRERS AT H -9 3 R @ g g ?
(1) foer g fagermor

2) &1 Td Regrd

(3) Wa WR U4 AHHGR]

(4) wa=r Tfad g e

MPHDURS-EE-2013/Commerce/(D)
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F.W. Taylor and Henry Fayol were the two :

(1) management radicals of their time

(2) management experts of managerial leader, leadership and motivation
(3) organic management medalists

(4) critics of Lyndall Urwick

Utho &y ek AT &) BTl QT

(1) 39 9T & Ya=I SY-GURATE 9 .

(2) USSR ~T, g Td IRon faRsr o

- (3)_%%?19@?%1%8&?@2‘1

(4) fore RfAd 3 Aq=—S 9

Three statements are given :

a. When a firm sets a goal of Rs. 100 Crore sales, that goals serves as target.

- b. mb.o. is also known as work planning and review.

c. Individual goal setting is also called management by understanding.
Which one of the following is correct about these three statements ?

(1) All three are correct (2) Only 'a’ and 'b' are incorrect
(3) "a’and b’ are correct, 'c’is wrong  (4) Only 'b' is correct

3. @ UH BH 100 IS IR B Ay &1 2y FuiRa o) € 98 9 @ey 3 w9 3§
BT BT B |

9. THo dlo 3flo BT BRIAST Td YaRTaelid A $H&l T & |

. @fRTTa 2 FuiRer w1 TEyfa g gawr off e o 3

3 dFl ol @ IR F A F W A 9@ g ?

(1) = B P & (2) ®acd ‘I qAT ‘T Terd B
(3) *" 9 ¥ Gb €, W Tod & (4) Paar T AP 2

MPHDURS-EE-2013/Commerce/(D) P.T.O.
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49.

50.

51.

D

The primacy of planning is after used to convey the : ......'a"...... of planning
and ........ - (PR heads are better than one conveys the group decision-making.

Which one of the following will correctly fill in the blanks ?
(1) premises at'a’, many at b’ (2) application at, 'a" intelligent at 'b’
(3) performance at, 'a' cooperative at b’ (4) importance at, 'a' two at '’

droFr @ Sl R WA H A S 8, AT B e P gr H
MR o - Hﬁﬁ%wﬁaﬁ@?ﬁ%aﬁﬁﬂ%gﬁﬁﬂhﬂﬂm

fopr # | DT Wrell RAFT BT T A 7

(1) SMuR ard F #, @ 4 H (2) SyAET ‘3 # gieAa 9 A

3) freres ‘o ® wEeN 4 H (4) wedn o H, a1 T H

"A system that anticipates variations from the standards and take connective action
before an error occurs", is called :

(1) Reactive control system (2) Closed control system

(3) Proactive control system (4) Open control system

"wﬁﬁmﬁﬁﬂwaﬂu@aﬁmw?ﬂawgﬁaﬁﬁmﬁmﬁﬂm

(1) wfaforar fa=or a= _ (2) g =T o=
3) ydftrareie = o= (4) Qe =T 9

One of the following methods of testing is used for testing the significance of
difference between the two correlation-coefficients :

(1) Proportion-test method (2) 7-transformation-test method
(3) Fisher's Z-test method (4) Furguson's-test method

ﬁmﬁﬁwaﬂwﬂﬁm@mﬁﬁ%waﬁ%ﬁaﬁéﬁmﬁ%ﬁﬁmﬁ
AT AT @

(1) smET-2ve ad | (2) Sre-aRad-ive @
(3) fheR @1 Sre-<¥e ARIBT ‘ (4) HO[HA-CTE TRIBT
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52.

53.

54.
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A test that refers no assumption about the shape of the population-distribution is :
(1) Non-parametric-test of mean (2) Distribution free test
(3) Runs-test (4) Sign-test

wéﬁﬁﬂﬁwaﬁm—wzﬁaﬁﬁmwzﬁ%ﬁﬁﬁﬁm,wéw
P HEA ® ¢

(1) W T SR e (@) R 3
(3) - (4) R“ITEW—%RE

A tool of statistical analysis that is for the purpose of testing the hypothesis of
‘whether the means of several samples have significant difference or not'. That is :

(1) Analysis of variance (2) Wilcoxon-test

(3) Friedman's-test (4) Kruskal-Wallis test

Wa@ﬂﬂﬁﬁﬁ%ﬁﬂﬁlﬁﬂﬂﬂﬂ%ﬁ‘qﬁﬂﬁﬁﬁ/@ﬁ@ﬁﬁwaﬁm
w7 § Frered ¥ T § R S ®, 99 $Ed © '

(1) TERUI-fAgeryoy ) faemEaE-c
(3) WIgSHTCRE (4) BEBTE-aIe™ S

Which one of the following statement is correct ?

(1) 'Operating business environment' is also called micro-business environment
(2) 'Remote environment' is also known as business environment

(3) M. Porter gave "Rivalry-model” |

(4) Value activities are of 7 kinds

et # BT HU WET ® ?

(1) ‘aRere adr gafarer eH-ATadG garaRer A Bl 8

(2) ‘gRadt ggfaRor BT SIRRG-TGERTT & wY § f S S ®

(3) THo SR ¥ wRREE-Atee fam

(4) qeu-ufthard AT gHR @1 Bl &

MPHDURS-EE-2013/Commerce/(D) P.T. O.
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99.  According to which view the business is an ecological one ?

(1) Modern view (2) Friedman's view

(3) H.S. Singhania's view (4) Contemporary view
foa gfedr & SR @raar ve TRRUR-RsT & ?

(1) smyfie gResmmTar (2) WIESH & gRePOTER

3) @OWOQTUTﬁIﬂT%E{&?«‘ﬂW (4) AR gRepmTIR

56. The Chairman of the Central Consumer Protection Council is the :
(1) Central Minister of Consumer A ffairs
(2) The President of India
(3) The Chairman of Federation of Consumer Production Items
(4) The appointed guy by the Central Government
DI SUNTT RV BIIRT BT IIRAT BIT L
(1) SUHIRT AT BT Dirg A=)
(2) YRT BT Igufey
(3) SUHIEHRT ST Hal & BIWH BT i
(4) D WRFR g1 g @l

57. The Industrial Policy Resolution of April, 1948 contemplated :

(1) Dual economic planning (2) Mixed economy
(3) W.T.O. system (4) Dunkel proposals
I, 1948 & sienfis Ny s § sl R T -

(1) <= nffep Trorrasvor (2) fAf3ra srefeggwer @

(3) fava =R weT & el @ (4) Soe wxdmEr &1

58. The period of 2012-2017 is for :

(1) 11th Five Year Plan (2) 13th Five Year Plan

(3) 12th Five Year Plan (4) 14th Five Year Plan
20129 2017 % &) Fafy ¥ .

(1) 114t ygadia O & ford (2) 134l qgadiy Ao 3 oy
(3) 128 taadta Ao @ for (4) 148 deradta AT & Ry

MPHDURS-EE-2013/Commerce/(D)
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59. To promote rapid economic development through creation and expansion of
infrastructure is the objective of :

(1) Foreign Direct Investors (2) Public Sector

(3) Multiretail Investors : (4) Private Sector

e e RrRT Y STURYT S BT o Ud R & §RT Hieie ST, Seed &
(1) fac=h geer faer &1 (2) WSS &

(3) Tgge™l faws @1 (4) IR &F P

60. In India, the Fiscal Policy operates through the :
(1) Planning System
(2) Planning Commission
(3) Central Board of Direct Taxes
(4) Budget
TRaa¥ # IrorRE-Afy fewd Ry aRenfea exdt & ?
(1) AT yomel & SIRY
(2) TS AR B HIRY
(3) UUE-BRI B B drS B IRV
(4) m% IRy

61. The formula "vn =(1.96 S.D.) + Precision" is for finding out :
(1) statistical truth (2) maximum samples number

(3) minimum sample size " (&) standard error of standard deviation
3 " = (1.96 S.D.) + Sgeswar’ &t &, Fret 4 F B v Foprert @ ford -

(1) wiRerdr ge (2) T B i wE

(3) LT BT AH SHR (4) wTO-frerer o TG

MPHDURS-EE-2013/Commerce/(D) - P.T. O.



18

62.

63.

64.

65.

Which one of the following is correct ?

(1) When the statistical error arises due to smallness of the sample selected, then that
is known as error of inadequacy

(2) Small-error is sample format
(3) Small-error of sample format is always si gnificant

(4) Absolute error should never be taken care of
= 4§ o dle g ?

(1)@%—@%%%@#&%%%aﬁwmaﬁgﬁaﬁwﬁ
ST T 8§

(2) Bré-gfe ufdest wrfe e 2
(3) wfeel wrife & B3 wen eyl Bt &
(4) et FRe &1 it o o =8 o =Ry

Which one of the following is the positional average ?

(1) Moving Average (2) Harmonic Means
(3) Progressive Average (4) Mode (or Z)

= # 1 s shwa Rerdrg 2 2

(1) va<i® afivad (2) &THD AT

(3) s s (4) e (M TgTT)
The second moment of dispersion is also called :

(1) variation (2) variance

(3) modulus (4) kurtosis

feRTa &1 gavr-gof seerar &

(1) fa=Ror A (2) T W

(3) HAMIH 0 (4) ¥ (Hegaran) oA
Which one of the following describes the shape of the distribution ?
(1) Geometric mean (2) Range

(3) Median (4) Skewness

=1 P-41 fAaRo & uReY @7 9o Bear & ?

(1) A siraa 2) fawr

(3) wemwey (4) fwsar

MPHDURS-EE-2013/Commerce/(D)
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68.

69.

L=r?j= JN indicates :
(1) Probable error of r’ (2) Trend of r’
(3) Sheppard's correction for 7’ (4) Standard error of r’

(1-r?)++/N samr e

(1) ' @ G- @) 7 & ST

@) v’ & o qure B WY& (4) ‘v’ B wiE-FR

In régression'analysis the variable to be predicted is called :

(1) Independent variable (2) Dependent variable
(3) Predictive measure (4) Regressional attribute

T v ¥ R TR @) " @1 Aferme fhar W €, S9 PEd €

(1) wad= = - (2) B3 =@

NORIEEEREIRII (4) TR TOT

In how many ways can the letters BASKET be arranged ?

(1) 720 ways (2) 6C, ways (3) 36 ways (4) 1760 ways
BASKET & auit @1 Rpert adipt Q4 safRera faam S et @ 7

(1) 720 T8 A (2) 6C, TR F  (3) 36 TP A (4) 1760 T@I A
The reciprocal of standard-error is a measure of :

(1) precision of the sample (2) confidence level

(3) confidence interval (4) error-proportion
yAmg-fe @1 Seel (@raf 1+ S.E) AIY B E

(1) uftresl & Qewar o , - (2) fowEaE wR @

(3) feard aR Bl (4) FR-rur BT

MPHDURS-EE-2013/Commerce/(D)
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70. Formula: t= KE - 0)+ SWNN 1S fOr woovveeviveeeee, and the formula Z=(x-p) + &

71.

72.

3 [} SNORR, ;

Which one of the following will complete the blank spaces correctly ?
(1) 'Difference-test' and 'normall-variate' respectively

(2) 'D. Fisher's-test' and 'p-test' respectively

(3) 'Test for number' and 's-test' respectively

(4) 'Difference-test' and 'mean-test’ respectively

0 t= [(3-0)+ SW SUOPUOIRORIO - 3 r | O 4 HAZ = (=) 6 viiiniians

= & & Pr-wr @l vt @Y we e ?
(1) IrR-c¥e’ 3R AH=-fAeR’ Hawn:

(2) "Slo fh¥R &7 S’ qoT - HH:

(3) W=l & ford e e ‘UHIY-SE wHHT:
(4) <RI’ TAT ‘A HHI:

The managerial task of strategy implementation rests on :
(1) Analysis and discussion

(2) Action and doing

(3) Analysis and control

(4) Participation and objectives of managerial authorities

IEHAT B PR & UGB BT F1 a8 B Fpi 2ar @ -
(1) faweiyor vd faaes w

(2) BrEATE T4 BrfeaT 1R

(3) faversor vd forror gz

(4) STHOR ARHRAT @ “rier vg Seeat w

Strategy by itself does not lead to :

(1) structure (2) plans

(3) action (4) appropriation
JEHAT W & [ar oiel)

(1) 3 & for (2) o B Ry
(3) @riETE & ford (4) s & fordy

MPHDURS-EE-2013/Commerce/ (D)
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73. A control exercised with the heélp of contingency strategy and maintaining crisis
management team come under :
(1) Special control alert
(2) Special control strategy and alert matrix
(3) Pareto Law

(4) Graicunas' Law

W@ﬁwﬁwﬁﬁﬂwmaﬁ?mﬁ@wéﬁﬁmm%mﬁ
it emar 8 ?

(1) fadw frg=or Jaear @
(2) fag P g e wasal Aigad ©

(3) e fram &
(4) Fgr A &

74. The application of the strategy commits an organisation to predetermined :
(1) Course of principles (2) Course of future action
(3) Course of policy framework (4) Course of scientific methods
WwWwWﬁmmﬁqﬁﬁﬁaﬁﬁ:
(1) Rt & 3fedm & ol (2) wfe & Remer 1 @ uf
(3) Ayt & Remeor & ufa (4) fasmria R @ fRememr @ gfa

75. Something that articulates a position that a firm would like to attain in the distant
future is known as :

(1) Strategy position (2) Vision
(3) Stretch : (4) Leverage

W.ﬁmﬁwﬁmmwmﬁ%ﬁﬁwwaﬁﬁmﬁwm
el ¥, SY W1 SN §

(1) g@aﬂwﬁuﬁrm (2) T ERI

(3) I gRT (4) ST R

MPHDURS-EE-2013/Commerce/(D) P.T.O.
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76. Which one of the theory of strategic management uses the mathematical models to

interpret the process of non-linear and dynamic system ? Select from the following
choices :

(1) Levis Theory of Strategy Formulation
(2) Carton's Theory of Systems

(3) SBU-Theory of Systems

(4) Chaos Theory of Strategic Management

gﬁmﬁmmﬁﬁaﬁwﬁ%mwﬁmwmmﬁaﬁ@uawnﬁﬁa
Hﬂﬂ?ﬁﬂ%ﬁﬂﬂm&ﬂ%&#ﬁﬁ%mw%?ﬁﬁﬁﬁgﬁv

(1) ggarra i o1 af Rigr gxr

(2) BET B YUl B Rygra grT

(3) THodlogo Rygra (womeh) gRr

(4) JEDIIA Ha=T BT SregaRen Rigra &R

77.  Organisational resources plus organisational behaviour create :
(1) strengths and weakness within the internal environment
(2) design
(3) matrix-system
(4) SWOT-configuration
STSAITd HRAET ST HISHeHS @ae8R S~ & & :
(1) em=iRes araTaRvT # ewary v HARG!

L

(3) woTel-rar

(4). we-mpfy

78. Which one of the following is not the reason for adopting different stability
strategies ?

(1) the environment faced by the corporate unit is relatively stable
(2) the environment is changing every time

(3) stable strategies themselves

(4) workers participation

ﬁmﬁﬁaﬁﬁwwﬁuwaﬁﬁﬂﬁg@aﬁmmawﬁwﬁ??

(1) Wﬂﬁemmw%aﬁmwﬁa&mﬁmgﬁ$w
(2) dTTERYT BRI gColdr YEdT

(3) Rer gg Prererany ara amy #

(4) =ffe B Grfemy '
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79. A cooperation between two or more independent firms involving shared control and
continuing contributions by departments for mutual benefits is known as :
(1) strategic takeovers (2) astrategic joint venture
(3) astrategic alliance (4) astrategic syndicate

1 a1 e ¥ e IFIRE BHI @ Hed WER BIel @ oy AEn-faeer gd faurie
3eTET BT AR B ST HEHRI GEdNT Bial €, S Sl ffal € :

(1) ATIRTS AEd BT IeIDRYT (2) U HHRS Hewd BT HYIT-AIEN

(3) TH AR Hewd I Afy (4) TP AWRE Hew & AgAd FY

80. In terms of the market, 'focus business strategies' are :
(1) central strategies : (2) reliable strategies
(3) business improving plans (4) niche strategies

IR W G aar Bfed gE-adrl Bl g
(1) =g ggnfai - (2) Gax1 ggHifads

(3) SaER GERA @) IS (4) e et

81. ‘The Revealed Preference Theory' of consumer behaviour was proposed by :
(1) D. Ricardo (1947) (2) J. M. Keynes (1495)
(3) P.T.Elsworth (1947) (4) Séﬁluelson (1947)

SUHIERT-qER ® ‘SgErea-SieHT Rigra &1 IRdd ¥4 ¢
(1) o Raprsl 7 (1947) # (2) Slo THo @I=d + (1495) H
(3) o o Tewadd 7 (1947) H (4) JrgueaT 7 (1947) A

82. Below are the statements :
a. Simultaneous multiplier is also called 'logical-multiplier'.
b. Marginal efficiency of capital is also called 'infemal rate of project’.
c. GDP = GNP - Net agriculture income.
In these statements :
(1) only 'a'is correct (2) 'a', and 'b' are correct, 'c’ is wrong
(3) 'a’,'b'and 'c' are correct (4) 'a','b’ and 'c' all are wrong

MPHDURS-EE-2013/Commerce/(D) ' P.T.O.
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A geper € |
3. GHBIIH-T[oT Wﬁ%tﬁ-gvm'ﬂ?rmm‘m -
q. ol @ Arr-s Hioee @) eTR®-ay 0 pEad )
¥, Wodloto = Horaotlo — ga FR s

(1) ®aat ‘?r 31 & ~ (2) & qA T P € T TG &
@) ‘o, T T W A ad @ @) o, q g w o S T8
83. Harod-Domar assumed that society saves a constant proportion of the :
(1) personal income ' '(2) national income
(3) increased income (4) social income
BIS-SR A A=l ot off f&5 w7 amar & v ReR o -
(1) =afdaTa g &1 (2) ISR 3T &1
(3) 9T g8 3MT BT - (4) @I S
84. Fighting with depression would require a ... (s AL controlling the
.......... (ii).......... requires surplus budgeting. '

Which one of the following combinations would
complete the statement correctly ? .

(1) deficiency target at (i) and deficiency at (ii)
(2) deficit budgeting in (i) and inflation in (ii)
(3) fiscal-discipline in (i) and inflation in (ii)
(4) fiscal-budgeting in (i) and inflation in (ii)

A B W TG B AR covlevnens(i)ovorennn, B STRRT B B IR oo ({i)nnn, BT FRISOT
H @ & ford fdy-gwifeT & snavadar &Y

1 4 9 B-a1 fOwey @l wrEl &) W&t & R ?

(1) smra-cled (i) ® oI 3mma (i)

(2) @rer 95ie (i) ¥ T gERwIf (i) §

(3) roTE-IrgI (i) W dRm YuRIf (ii) A

(4) TST-gOIT (i) # o gERWHY (i) F
MPHDURS-EE-2013/Commerce/(D)
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85. Ricardian Theory of International Trade suggests one of the following for gainful
trade between two countries :
(1) A Theory of Absolute Advantage (2) A Theory of Factor Endowment
(3) A Theory of Comparative Advantage (4) P.P.P Theory

Reprel &1 sravisia @R Rigra 1 § & e geia <ar & S &1 gl § AH-gul TaR

3 ford BT ®© ¢
(1) frUer wrae &1 g (2) w1 el A Rgra
(3) goTHd B &1 g (4) o o dro Rugr

86. Who does work as the 'custodian’ of the foreign exchange of a nation ?
(1) The Federal Bank
(2) The Cartels of the Banks
(3) The Syndication Foreign Exchange Markets
(4) The Central Bank of the concerned Nation

o U 3 Ae-RfTa & afRRee & w9 d§ o9 & dxar 8 ?
(1) ®HSIA d&

2) o & T .

(3) fac=h fafv Rl &1 Rifsaee

(4) TRfT I BT DT 95

87. The Theories of early business cycles theorists are jointly known as :
(1) Monetary Theory of Business Cycles
(2) Fluctuating Theory of Business Cycles
(3) Ohilin's Theory
(4) Carlyle Theory of Business Cycles
URME g ghl @ RigraaR! & Rigra d@gad w9 3 S 9Md €
(1) g =gl &1 Aifed-ai & a1 |
(2) TG Tl DI SAFAA-ART & AH
(3) snfefem Rigra & M &
(4) TTART TH P Bleligel AN & A A

88. National Income = Rent + Wages + Interest Plus :

(1) Foreign Exchange Surplus (2) Foreign Income
(3) Labour Surplus (4) Profit

TG G = [HREAT + AR + <ToT G 74T :

(1) fa<=h faffmag @ g9a (2) faceh oz

(3) AT g (4) =™

MPHDURS-EE-2013/Commerce/(D) P.E.0Q.
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89.

90.

91.

92.

The process of strategic choice is essentially a :

(1) decision-making process (2) choice of objectives

(3) strategy implementation (4) process of strategy intent
Jg-dIereid [Amed o ufthar smavas w7 9 § ¢

(1) fofa a= & uftean (2) eI BT A BRAT

(3) E-PINTS BT ATL HAT (4) JE-drerd B ReR FHIA &1 ufshan

'The Boston Consultancy Group gave an array of elements in rows and columns and

cells. Each cell represents a particular type of :
(1) Organisational design (2) Performance level
(3) Developed-areas (4) Business

e cnﬂocrﬁlgqﬁ‘at‘cﬁrao‘rsz’c’ﬁwmwﬁ aﬂaﬁﬁwﬁwﬁ%mlwﬁm
T UERa dll & Ud favw fhw & ¢

(1) Hreha ¢ & (2) fremeT wr B

(3) Sa-&=A Bl (4) a9 B

"Future economic benefit is the essence of .......'a"........ , and the liabilities are
measured in conforming with the ........'b"......"

Which one of the following will correctly complete the statement ?

(1) at'a' machine, at 'b' value (2) assetin 'a' and cost-principle in 'b’

(3) revenue at 'a' and cost at 'b' (4) revenue at 'a' and cost incurred at 'b’

afasy fes-amT ... ST, F1 IR 8, 3R @ BT AT .......... U . i o
faram ST § 1,

=1 5 1 BI-a1 @rell el B RA @ o wer g ?

(1) & # 7204, ‘g # o (2) o ® wwfRy, @ 7 ara-Rigr

(3) ‘31 H 3mmH, ‘g H orId (4) ‘3 H T, ‘T H AN IoT8

In analysing a company's financial statements which one would a potential investor
primarily use to assess the company's liquidity and financial flexibility ?

(1) Balance-Sheet (2) Income Statement

(3) Statement of Retained Earnings (4) Fund Flow Statements

Wﬁﬂﬁﬁ%ﬁmﬁmwmaﬂnmmamﬁﬁaaﬁmﬂwwwmﬁ%gm
& -4 fRIE-fAaR0r &1 w1wr e 2

(1) Rerfey faavor @ (2) Mg fIaRoT B
(3) grfera SuTSAl &1 faavor &7 (4) ®s yaig faavor &
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93.

94.

95.

96.
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Which one of the following is true about Interim-Financial Reporting ?
(1) Itis covered by SEBI guidelines and the AS-25

(2) Itis covered by SEBI guidelines and the AS-17

(3) Itiscovered by AS-1

(4) Ttis covered by AS-25and AS-28

SRE-ROET @) @& ar § e 3 BIE- tE a1 el e ?

(1) @E Jd-artefiee qor ¢ tE-25 & §R1 @aRerd gl &

) @8 Jd-riefien o ¢ gE-17 @ gRT @@aRerd gkl 8

(3) ¥E T TH-1 & gRT JaRerd 8l @

(4) UE T QW25 AT U TE-28 B BRI AART &

When computing' purchasing power gain or loss on net-monetary items, which of the
following items is classifield as non-monetary ?

(1) Advances to unconsolidated subsidiary
(2) Advances for allowances

(3) Unamortized premium on bonds payable
(4) Accumulated depreciation on equipment

wga—ﬁﬁmﬂﬁwm-mﬁﬁwmmﬁaﬁmaﬁmﬁr%?ﬁﬁwﬁﬁaﬂﬁ-ﬁm’
srifes Afdr @ i @ 2

(1) srrafra-aemat $I 1fm
(2) W=l & A

(3) 2 dfvsl WR uReNfE gearsi
(4) 3SR R AHford B

Lee Seidler's income-statement is associated with :

(1) Human Resource Account (2) Human Resource Statement

(3) Human Resource Model (4) Social Accounting and Reporting
N-fseR BT Ima-faaRor AR €

(1) 9Ha-\eH & @ 9 | (2) HFg-aEE faaver |

(3) HFI-RA ASd | (4) ARG oraids dern RAféT |

How many major determinants of the human resources are there according to Organ ?
(1) 7 (seven) (2) 8 (eight) (3) 9 (nine) (4) 10 (ten)

AR & SR HFa-weEE & ek aw@ g w9 9 fead € ?

(1) wm (7) (2) @S (8) (3) ) (4) =¥ (10)

MPHDURS-EE-2013/Commerce/(D) BT O
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97. Broadly speaking, the managerial economics is :

(1) micro economics (2) applied economics
(3) price theory (4) atrade economics
MR B ATAR, YaHd efee 8ar & ¢

(1) Ger-srieme (2) ragRe-arme

(3) dma-Rigr (4) TP AR BT AR

98. The central theme of the consumption theory is :
(1) Utility maximizing behaviour of consumer
(2) Utility function
(3) The study of indifferent behaviour
(4) Hibdon's price-mechanism of firms
SYYIT-RIgTT &1 Beig-fawy 8ar 2 -
(1) ST &7 GREDBROT SIfHaH I BT FaER
() e
(3) TCWI-AER BT FegTH
(4) fEasd &1 PHa-a= BA BT

99. The mathematical presentation of the input-output relationship is the presentation of :

(1) Rational Production (2) Rational Productivity
(3) Production Function (4) Performance-Index
frde-sareT & wawr a1 TR gedmI §
(1) fadwsfrer Sarest & (2) faameiar SrETNerdr &1
(3) SUEHA-HRI BT (4) ForeT-ifgas &1
100. (Price — Marginal Cost) + Price, indicates :
(1) status of competition (2) oligopoly
(3) imperfect competition (4) monopoly power
(B — AT ART) + BiEd, SR Fear
(1) ufeanfrar & Rafd @ (2) SreaufcAIRrar &1
(3) eret wRwAfaT B (4) TERER ahE 3
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